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Question 1

A financial analyst has been following Fast Start Inc., a new high-growth company. Fast
Start’s last dividend per share on common stock (Dg) was $0.8696. The analyst estimates
that the dividend will grow at a rate of 15% per year during the next 3 years, then at 11%
per year for Years 4 and 5, and at & constant rate of 6% per year thereafter. The analyst
also estimates that Fast Start’s common stock has a beta of 1.25. The risk-free rate (rp) is
5% and the market risk premium (E(rz) — r) is 8%. If the required rate of return on
common stock is determined by the SME (security market Iine) relation of the CAPM
(capital asset pricing model), what is the value per share of Fast Start’s common stock
today? (20 points)

Question 2

A bond for GM Corporation that pays interest semiannually has the following
characteristics:

Maturity (years); 12

Coupon: 10%

Annual yield to maturity; 9.50%
Macaulay duration (years): 5.7
Convexity (years): 48
Noncallable.

Calcula.te the apprm_iimate percentage price change for this hond using both duration and
convexity assuming 1ts annual yield to maturity increased by 200 basis points. (10 points)
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Question 3

Miss Chen, manager of the Humongous Mutual Fund, knows that ber fund currently is
well diversified and that it has a CAPM beta of 1.0. The risk-free rate (1) is 8% and the
market risk premium (£(rs) - 7 is 6.2%. She has been learning about APT (arbitrage
pricing theory) measures of risk and knows that there are two factors. The APT equation
is:

E(n)—rs =[81-rp1By +182 - rp1Bn = (0.05)8y +(0.11)8;

where E(r;)is the expected return on security /, Sk is the expected return on a portfolio
with unit sensitivity to the Ath factor and zero sensitivity to all other factors, and 5y, is
the sensitivity of the retums on the fth security to the 4th factor.

If her portfolio currently has a sensttivity to the first factor of f, = -0.5, what is its

sensitivity to the second factor? (10 points)

Question 4

Estimates of standard deviations and correlation coefficients for three stocks are:

Standard Correlation with
Stock Deviation 1 7 3
1 8% 1.0
2 10% 0.5 1.0
3 12% 0.5 -1.0 1.0

(a)  If equal investments are made in all three stocks, what is the standard deviation of
the portfolio? (5 points)

{(b)  If your pertfolic includes only stocks 1 and 3, what percentage of investment in
each stock will minimize your portfolio risk? (5 points)
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